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 Paper-l (For all courses except BHA)

_ .. (Booklet Number)
Duration : 90 Minutes No. of MCQ : 100 _ Full Marks : 115

,, ;
_ ' - INSTRUCTIONS

1.  All questions are of objective type having four answer options for each.

2. Category-1: Carry 1 mark each and only one option is correct. In case of incorrect answer
or any combination of more than one answer, % mark will be deducted.

3. Category-2: Carry 2 marks each and one or more option(s) isfare correct. It all correct
answers are not marked and no incorrect answer is marked, then score = 2 X number of
correct answers marked + actual number of correct answers. If any wrong option is
marked or if any combination including a wrong option is marked, the answer will be
considered wrong, but there is no negative marking for the same and zero mark will be

awarded.

4. Questions must be answered on OMR sheet by darkening the appropriate bubble marked
A B C orD.

5. Use only Black/Blue ball point pen to mark the answer by filling up of the respective
bubbles completely. -

6. Write question booklet number and your roll number carefully in the specified locations
of the OMR Sheet. Also fill appropriate bubbles.

7. Write your name (in block letter), name of the examination center and put your
signature (as is appeared in Admit Card) in appropriate boxes in the OMR Sheet. -

8 The OMR Sheet is liable to become invalid if there is any mistake in filling the correct
bubbles for question booklet number/roll number or if there is any discrepancy in the
name/ signature of the candidate, name of the examination center. The OMR Sheet may
also become invalid due to folding or putting stray marks on it or any damage to it. The
consequence of such invalidation due to incorrect marking or careless handling by the
candidate will be the sole responsibility of candidate. :

0. Candidates are not allowed to carry any written or printed material, calculator, pen, log-
table, wristwatch, any communication device like mobile phones, bluetooth etc. inside
the examination hall. Any candidate found with such prohibited items will be reported
against and his/her candidature will be summarily cancelled.

10. Rough work must be done on the question booklet itself. Additional blank pages are

" given in the question booklet for rough work.

11. Hand over the OMR Sheet to the invigilator before leaving the Examination Hall.

12: This booklet contains questions in both English and Bengali. Necessary care and
precaution -were taken while framing the Bengali version. However, if any
diserepancy(ies) is /are found between the two versions, the information provided in the
English version will stand and will be treated as final. it

13. Candidates are allowed to take the Question Booklet after the Examination is over.

.

Signature of the Candidate :
(as in Admit Card)

Signature of the Invigilator :
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JENPAS(UG)-2024
" PHYSICS -
Category-1 (Q. 1 to 15)
(Carry 1 mark each. Only one option is correct. Negative marks: —7)
1. A particle moves in the x-y plane with velocity components v, = 4t m/s and
V= 2 m/s. If it passes through the pointx=10mandy=4matt= 2 sec, then

the equation of the path is : ;
%y STTOTE SiR5aeT GG T SRStz Bofie v, = 4t m/s €3 v, = 2 m/s | 7% 1B

t = 2 CIES T « = 10 m 8 y = 4 m Ry wifswn 3, © TR AR T
Q) z=y* B) x=y*-2 (@) x=y*+2 M) y2=2(x-2)
2t A systém of particles consists of 3 particles each of same mass and located at

points (1, 2), (2, 4) and (3, 6). The coordinates of the centre of mass are
e SIPRA N A fods FA1 OIZ ¥ae PSR TE (1, 2), (2, 4) 98

(3, 6) | FEATTEIT SACTCHS FF 0 : S :
@ 1,2 B =49 © «2 D) (3,6)

3. A ray of light passes from vacuum into a medium of refractive index p. The
‘angle of incidence is found to be thrice the angle of refraction. The angle of
refraction is : '

QTS SICERS AP P MW QT p AR 4T MW AT FW 1 o O,
 oppeieA P19 AT et Rt wrRteT AT CRITR N 2

,, e
(A) cos™ EJ : : (B) cos! | M-le

\E L 2
(C) cos? .'I—‘&+1J : (D) cos*l[ R )
Vi | 2

4. A block of mass M is attached to a uniform rope of length L. and
mass m as shown in figure. If the whole system falls freely under
the gravity, then the tension at the midpoint of the rope will be

Te B} : m
(A) (M+E]g (B) (Mvgjg

©) M+m)g (D) Zero
M S@E 477 300 L el 8 m ©RA 4675 3 7w 1 I@ w4t == (fow

i) | Tft s AT ofewd e ST S[IE AT SR H%q Z
Rrotmas | .

a :
(A) (M%]g (B) (M—%jg (€) M +m)g (D)

_ - _ =
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5. A body of mass m is dropped from a height h = R on the earth surface. The
speed with which the body will collide with earth surface is :
[R is the radius of the earth and neglect the effect of air]

m ST 4 3G h = R w1 Qe A0 @t 791 | @ siferaest 7w RS
0 R PR ©F 771 — [T AP R 932 IRF @rwiy Srormd]

@ 2R B R (©) 24eR D) ggR

6.  Which of the following figures shows the variation of thermal strain (g)
produced in a rod with change in temperature (AQ) ? '

ﬁmmmﬂ?mﬁ@ﬁmwmmme)ﬁsm%ﬁw_@
S IECICE AT (e R .

g . €
@ | | ® |
0 SEESHS T e
€
o |
0 Y A_é
Ts
b : + >V
4 v 3V,
P-V diagram for one mole of hydrogen gas for a certain process 1 — 2 is shown
b in the figure. The amount of heat supplied to the gas during the process is

4f6 W8 afrrm 1 - 2 93 one FRwits™ MeR PV oreial fw e
AR | 92 ARSI ST RS SIeiF #Hfmiet = ' |
(A) 4PV, B) 32P.V, (C) 8PV, (D) 48PV,

Tt 41, i e, T B PR LR i, b . . e

: g,
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E=10V
A battery of emf 10 V and internal resistance 1 Q is connected to an ideal
voltmeter and a 4 Q resistor as shown in the figure. The reading of the
voltmeter is

10 V Glbesters 727 3 1Qmﬁﬁmaﬂﬁmﬁﬁwqﬁwwf®%ﬁme4g
Wﬁ&@ﬁ@w'ﬁ(ﬁr@ﬂﬁ%)ic@%ﬁfm%m

(A) 0V . _ (B) 2V °

C)y 75V (D) 0oV
9 % X WA % %

X X ® e

10 cm

X x X %

b X X *

X X * X

A circular loop of radius 10 cm is placed in a magnetic field of 1 Tesla in such a
way that the area vector of the loop is in the direction of the magnetic field.
The loop is now rotated by 90° in 0.01 sec about its diameter as shown in the
figure. The magnitude of emf induced i in the 100p is (in volt)

(A) mx104 . (B) T
2 o :
(C) = _ (D) Zero

10 em Waﬁa‘waﬁ 1 Tesla TBRSTH 97 S FT TWZ TS 7
(P (ST (BT CFAF WSHCY AT | FABE 0.01 sec-q ©F GICH HAATH 90°
@I IR 247 | (fora Fio) |mmﬁéeﬁemwmm(voh GPLF)

@) mx 101 | D B

nz

@ L. | ®

T s
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10, Which of the following Il_] Vs. ﬁ graphs is the correct graph for a convex
o v u :

- mirror for Cartesian sign convention ?

PSR s Haw ol fiesg o ittt Seer mofin — A — e ?

| v | |ul
S
Ifi
A" @
3;’-} 45° s
7 | A EmT > Tu]
> Wl Lt ]
|f]
Flie
!Xl
(B) T
.2 45° sl
0 lu]
1
J}«'-i
(@)
459 25
0 iz ||
| £]
e
Il'l
D)
kb
0 < T
_ e
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11. When Young’s Double Slit Experiment is conducted with White light, coloured.
fringes are obtained on the screen. The ratio of the width of red fringe to the

width of violet fringe is

© [, and A are wavelengths of red and violet colours respectively]

Eﬂa—@a%mﬁﬁwmw-wwﬁﬂ@aﬁmwﬁa@|

Sel @ @S A0S FFE &TE TS W

[xr\sxviazrww\s @ Iufa o o |

L '
(A) }—" B) 1

vr

;“‘1' ‘ - ?'“r+?"v
(s T

12.

The equivalent resistance between the points P and Q of the network shown in

the figure is

%@aaﬁf@aé—ﬁiamaﬁwﬁmw@am

A 40 _ B) 6Q
© o o o 30

- b AL e . i s AR BT i i, ST, B, PR

: o,
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The famous Fermi-Dirac dlstrlbutlon function is given by the followmg
expressmn

Sy = m ,.where E is energy, k is Boltzmann const:ant aﬁd T is
temperature. a is a constant. The dimension of ak is
(A) Dimension less ' (B) [ML2T-20-1]
(C) [MLT-2671] | (D) [ML2T-26]
{(E) = Q—%T— GG ze1 1S Ff-Roars T S | e E 3 41, k
"{?:T@TF[(;TWWL‘I?T" T 567 STl | ¢ 9F16 &3 | ok 97 A1@r 2E
(A) e | ® [ML*T-%6]

(©) [MLT-261] & o) M

LD i : : -
Consider a vector 21 — j . A vector which is perpendicular to this vector and of

unit length will be

oy e 43 cs8T 20 - ) t@i@@ﬁ%ﬂtﬁmﬁ‘wﬁwwam«qwm

G372 v SiTewEst | ©IRtE

&3a0 2@

12 2 T A e S
e S B). i
D B Lboged!

1A 2 ' ]_A A
B e D —
R e N J‘J

A particle of mass m falls in a viscous medium where the drag force F on the
partiéle is F = Kv2 where K is a constant and v is the velocity. Then JE—-}-{—E has
the dimension of : b '

(A) Acceleration (B) Distance (C) Position (D) Velocity

T T MHTTT ST m SEH eIl ol AT 7o F = Kv? WRIe K 996 83

\,ﬁ a7 it Riesa (e s

(4) w9 (B) 79 (O D) @il

: e
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PHYSICS
Category-2 (Q. 16 to 20)

(Carry 2 marks each. One or more options are correct. No negative marks)

16. Two point charges o 4q and +q are placed at a distance L apart. A third charge

17.

q, is to be placed in the line joining them so that the entire system be in

equilibrium. Then which of the following statement(s) is/are true ?
(A) g, must be negative.

(B) q,must be located at a distance Z—;”— from 4q.

(C) for equilibrium, ¢, = —%q.

(D) equilibrium is not possible for any value of qn :

7fS &g S¥ + 4q 93 +q, L AT SRS | tﬂﬁ‘@"@ﬂ@?ﬁqoﬁ‘@ﬁ@{w
mmmﬁmm@ﬂaqmmwwwmmﬁmﬁww | SRt
forsa ot S/ Sipefer orey 2

(&) q, ST WS |

®) ,4(;@1211#@@%@%@@%@@';

(C) STFRER S q =~-§q.

D) q, SRTETT @I W S8 AT 3% 7 |

Sound wave of fundamental frequency (f) is produced by vibrating air column
in a closed organ pipe. Which of the following statement(s) is/are correct ?
(A) fwill increase if the radius of the pipe is increased.
(B) fwill increase if the temp. of the air in the pipe ig increased.
(C) £ will remain same if the pressure of the air in ‘the pipe is increased
 without change in temperature. :
f will decrease if the molecular mass of the air in the pipe i3 increased.

aﬁwwﬁﬂwnmmwﬁm(ﬂwwﬁﬁw?ﬁ
31 7 | Fesa i it /STl 110 2

(A) oo i 3w TR TS £ AN |

(B) T WS T ST AT £ T |

() wwqﬁa@mﬁmmwﬁ@mmmamﬂﬁa@@mwa
M) I SRR B g PACE £ P |

; 3 i
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218: Consider the following ecircuit, shown in figure involving Zener diode,
resistance R and Load resistance R;. V, is the input voltage, V; and Vg
represent voltages across R; and R respectively.
Then, which of the following statement(s) is/are true ?

V=16V 5 ylv
N =k =102 kQ§ L
.:"\ S
%’j ~ (A) Voltage across zener diode is 8.73 V.
> _ B) Vp.>V_.

(C) Vp=727V,

D) I,=0.

%mmmaﬁwmﬁm @M R @R (TS G Ry, R |V, (SI00S B
§R V8 Vg WRLM\R-WTEW@WE@T|W%MW

B/ Sieaf o) ? S
Vg

>

AN

R—1kO LT
2 S o [ R, T
V., =16V — v ' =1.92k0 1.

=10V

(A) TSR SIEICe 7R &0ed M) {edaten 8.73 V |

® Vi >V,
(C) V=727V
D) I,=0
19." The wavelengths of K, K;3 and L characteristic X-ray lines are A,, A, and A,
g /))f ~ respectively. Then which of the following is/are correct ?
= K KB«aaaL%taﬁvﬁaﬁasﬂ% xaﬁnmwww‘wfaw;vl,xz@a\%mw
feyosa mﬂq‘it“, (Iqafen) ?
‘ 1 1 1
A) k> >0 | B) e
() 25>y >Ry g n a,2.+;‘«,3
@ Mo >A @I = s

d
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20. If two liquids of specific gravities S, and S, (S, > S;) are mixed to formia

mixture of specific gravity S then which of the following statement(s) is/are

correct ?_
(A) . S1 <S é_ 8_2.

(B) 2S=8, + 8, if two liquids are mixed in equal volumes.

(@) 2 2ol + 71— if two liquids are mixed in equal masses.
S S, S, -
1 Jeseegig]
e 2 ARECEE E

&% (81 Sz J

8, 932 S, (S, > Sl)wﬁﬁ@m'ﬁwﬁﬁmsmﬂﬁwmaﬁﬁm '
o2 w4l 71 | FER (o1 St / Sieafe stey ?

(A) 8, <8<8,l

(B) 28= S, + sg,wm—m’@quﬁwmﬁmﬁﬂ |

© 2-1 1 e om-ww wwe gfbe oricT = |
S By S
1 ool
L platicly

s [Sl+s2}|

P T

: p,
JENPAS (UG) Paper-1 11 % 5]



21.

23.

JENPAS(UG)-2024
CHEMISTRY
Category-1 (Q. 21 to 35)

(Carry 1 mark each. Only one option is correct. Negative marks: -4) .

How many isomers may be considered with molecular formula C,H Br ?

C ,HBr ®14f{3 TS 2806 TESET SREINR 22 ? .
@ 4 - (®) s © 6 @) 7
Which is not the proper reagent for the conversion of glucose to gllu'conic acid ?
(A) Br,, H,0O : (B) Tollens’ reagent
(C) Fehling’s solution - (D) 'HNO,4
G TS (TF P ST FATSER S Ao NPT 77 ?
(A) Br,, H,O (B) Tollens’ reagent
(C) Fehling’s solution (D) HNO,

Which of the follow*.ihg diagram correctly describes the change of surface
tension against concentration for a miceller solution ?

FE?

v ol ' v _
@A) ‘—ﬂ/ @
' HEME TS - | CMC
. Cone. _ Conc.-
Vv BP
© A ® N
| CMC - ooleMe
. Conec. = _ - Cone.

- 24. For the reaction 2A + B == 2C, AG® (500 K) = 2 kd/mole. Find the equilibrium
constant for the reaction A + %B =C
2A+B—xzcﬁﬁﬁamaaﬂuﬂammM{msz/mole | A+ -B——*C
Rfewm oy gz @aoma. . _

(A) 0.950 (B 0.786 (C) 0.565 (D) 0.0786
JENPAS (UG) Paper- I ke . % o
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25, An electron moves in an electric field with K.E. 2.5 eV. What is the associated

de Broglie wave length ? _
Q3B Brerdtad wiuerroa sifenes 2.5 eV | ST de Broglie.mfﬁ_ﬂﬁ TS ?
(A). 7754 - (B 1508 7 Q) 195 A . D) TADA.

26. For the isothermal reversible expansion of an ideal gas , which is correct ?
(A) AH>0andAu=0 (B) AH>0and Au<0
(C) AH=0and Au=0 (D) AH=0and Au=>0
v SR TGS A STERTTeT GG o113 ? |

- (A) AH > 0932 Au=0 (B) AH>043R Au<0

(C) AH=04R Au=0 M) AH=0493R Au>0

27. At room temperafure HCl is a gas while HF is a liquid because —
(A) of a strong bond between H and Fin HF
(B) HF is less acidic as compared to HC/
(C) HCI is less acidic as compared to HF
(D) of strong intermolecul;ir H-bonding in HF
I AT SR HOL STt e HE waet i -
(A) H 8 F <7 0y =11 a3
(B) HC! &7 Sl HF 3 oifie
(C) HF 97 Srsrwl HOl 9 SiiEee
(D) HF 9 *femst srsesnd s 2izminss s Srfine

28, Which one of the following species is not isoelectronic with CO ?
CO 43 A TG SHRCTRETCE < 27 —
@ N, (B) CON- © No- (@) oy

JENPAS (UG) Paper-1 13 e % o
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29, ' The correct order of acidic cHaraéter'is

ST BRIAR AT T Ze1 |
(&) Al0;>MgO>8i0,>P,0,,  (B) P,0;,>ALO,>MeO >Si0,

(© P,0,,>8i0, > A0y > MgO D) Si0, > P,0,,> ALO, > MgO

SOI. The common oxidation state of the elements of lanthanide series is

AEFRS @ Gt TEe Suaet 722yt 575
AR (B) +3 C) +4 D) +6

31. Selec‘ﬁ the incorrect statement :
(A)  GCu(l) is diamagnetic while Cu(Il) is paranlaagnetic'
(B) [Ti(H,0)g]%" is coloured while [Se(H,0)4]%" is colourless.

(C) Ionisation energies of 5d-elements are greater than those of 3d and 4d
elements.

(D)} Transition elements connot Tomn complexe.s

& gt wise w2 _

(8) Cu(l) == RoATweIm 93 Cu(ll) Z&1 *HIGTPR

(B) [Ti(H,0)6]** ze1 21% 8 [Se(H,0),]%* 3R

(C) 3d 932 4d TN S 5d GTEATE ST *15 @5
(D) ARoS Ger SfBa @er s1dey AT i@ 7t

32. The correct valence shell electronic configuration of the element with atomic
number 22 is

1T GTICETA RTINS SR 22 2T O SIICeT=1 CICeTa 3115 Beerae Rty a7
A) [Ar] 45?342  (B) [Ar] 34 @ [Ar] 8d24s> (D) [Ar] 4e%4p>

: A,
JENPAS (UG) Paper-T 14 | - % . o
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' 33. The correct order of the' rate of acid-catalysed dehwdra.tlon of the given

isomeric aleohols is :

WWW@%@W@WWWW%@%W

OH :
(A) I<II<III B) IlI<II< I (C) TII<I<II (D) I<III<II

34. The group isopentylis :

SIIRECAGIRE ATl 2o -
(A) CHy~CH,CH,~CH,-CH,— B) CHB—-CH—CHQ_—CH2~
' é}H3
CH, o8y
() CH,~CH,~CH-CH, (D) HE-€-CH—
i,

35. The order of boiling points of the following compounds are :

e dstefm i o 5 ;

OH OH
. . i ]
CH,CH,CH,CH,0H CH,-CH,-CH-CH, CH,-C - CH,

_ . I
! I1 ITT CH,

Ay s 11 T e B) oLl L0 (€)1 el T T

JENPAS (UG) Paper-1 15 | ; % o
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CHEMISTRY
Category-2 (Q. 36 to 40)

(Carry 2 marks each. One or more options are correct. No negative marks)

36.

37.

(OIS o[
The above co-m-fersion can be carried out by wﬁich of the following reagent(s) ‘?
e @ R AR SRS MATSATS oI E 2
(&) () Cly, H,0 (HOCL), (ii) Base (OH")
(B) m-CPBA
@) H 0 /0H
(D) Peroxybenzoic acid
Consider the following lonization steps :
M(g) —> M(g) + ¢7; AH = 100 eV
M(g) —» M%*(g) + 2~ AH = 250 eV
Select the correct statement(s) —
(A) (IE)I]_ of M(g) is 100 eV ~ (B) (E), of M*(g) is 150 eV
(€) (E), of M(g) is 150 eV D) (E), of M(g) is 250 eV
e SRaTeIwR divalr Ao 93 ; '
M(g)—> M*(g) + e; AH =100 eV
M(g) — M2*(g) + 2e—; AH = 250 eV
o Rgfel (sfen) v sa—
(&) M(g) 97 (IE), %1 100 eV (B) M(g)9d (IE), 3 150 eV
(€©) M(g) 97 (IE), T 150 eV D) M(g) 97 (iE)z &1 250 eV

T et it b Bl e b S ML AL oS, ok JTA, S

: L,
JENPAS (UG) Paper- 1 16 % O



38. Which of the following concentration term(s) is (are) independent of

- 39.

40,

JENPAS(UG)-2024

temperature ! ?

mm(wm)aﬁﬁ(ﬂﬁ)@ﬂmﬁmﬁﬁ@wm?

(A) Molarity . , ‘ (B) Normality
(C) Molality . (D) Mole fraction

Among the following, the extensive variables are

(A) H (Enthalpy) B) p (Density)
(C) E (Internal energy) D) V (Volume)
frmaferiea Tey it waeers of '

(&) H (a7 ®) p @)

© E(eresfe) D Ve

Which of the following reagexits can convert benzene to benzaldehyde ?

(A) CH4CN, HCI gas, anhydrous ZnCl,

(B) CO, HC! gas, anhydrous AICL,
I
(©) H-C-0C,H,

(D) () Fe/Br, (i)) Mg/Ether (iii) HC(OC,H,), (iv) H*/H,0

fafafie @i Relresfa afdme @R wemsfiie afi%t@ AR 2
(A) CH,4CN, HCI styi, 4 ZnCl,
(B) CO, HCI sy, 4t AICL,
0
(©) H- t'}rozﬂs . |
D) (@ Fe/Br, (i) Mg/R¥H (iii) HC(OC,Hy)g (iv) HYH,0

JENPAS (UG) Paper- I el
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42,

43.
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- BIOLOGY
Category-1 (Q. 41 to 55)
(Carry 1 mark each. Only one option is correct. Negative marks: —%)

Cell wall of Gram-positive bacteria consists mostly of |
(A) Chitins _

(B) Cellulose and hemicellulose

(C) Peptidoglycan and teichoic acid

(D) Lipopolysaccharides

Mﬁf‘@%@aﬂﬁmmaﬁawqwmwﬁs@
(&) G .

B) TEETS s GRETETS

(C) TApRmERTH ¢ TEs enie

(D) e eIIRGT

Which one of the folldwing animals has a diaphragm between the thorax and
abdomen ?

(A) Whale ' (B) Pigeon

(C) Snake (D) Frog

I I 1 TTa 3% 93 SR M FHTEA] SR ?

&) fofy | ® v

€ = (D) e

The pair of hormones required for a callus to differentiate into organs are
(A) auxin and cytokinin _ (B) ethylene and auxin

(C) auxin and abiscisic acid (D.) eytokinin and gibberellins
FEART (TF ifem oz eepr Sesiy 0o @ 1ib 0 SRS O 36

(A) I @ STREIEAA B) e s wfiim

(©) ifdr e wReTERR SNk D) RGRER @ Rk

Lol
JENPAS (UG) Paper-1 18 : : % O
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44. Which of the following is necéssary for biological nitrogen fixation ?

(A) Copper : _ (B) Zine.
(C) Mang‘anese _ ' (D). Molybdenum
(4) ©m ' o ®

©  mfe : D) FRETEAN

45. The equation that represents exponential population growth is
dt dN dN rN

@ =N @ Sek  © = I(D)_ st
@ paefS QmeAEaRier s 7% S ww o 7=
A msiboerad gatiiN @y (s 18N L Hp nodnmor (kg

dN N dt dN

46. cDNA is copied from mRNA with the help of which of the following ?

(A) Restriction enzymes _ (B) Reverse transcriptase
(C) DNA polymerase (D) Topoisomerase

mRNA (¥F cDNA Rafii¥ie @it ey et aqa

(&) WIHGTH QTS - (B) fepf G

(C) DNA #femiast : D) TEATSEIIES

47. Which of the fol]owing glucose tranéporters ié insulin-dependent ?
(A) GLUTII (B) GLUT III (C) GLUTIV (D) GLUTI
FafeiRe guerst--frermifiom 1o crrfS S fidg 2

) GLUTI  (B) GLUTII  (C) GLUTIV () GLUTI

 48. Who is the author of ‘Systema Naturae’ ?

(A) John Ray B Darwin (@ Pinnaeos (D). _Bentham
‘Systema Naturae’ 3804 @GTIT & ? ;

(A) John Ray (B) Darwin (C) Linnaeus (D) Bentham

JENPAS (UG) Paper-1 19 . | % gl -
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49. Small, extrachromosomal, circular, self-replicating DNA molecules found in
bacteria are called — '

(A) Nucleosome : ' (B) Plasmids

(C) Golgi body (D) Phagosome

wwf‘@ SH B GICSIA, FFIFE, ST DNA S9af 3 FFCREE w4
. : Rl |
%‘Eﬁk : @A) frEEreEm . B) * amfes

(©) steif 3T = (D) TN

B N
)

50. Which of the following components of phloem is absent in monocot plants ?

(A) Companion cell . (B) Phloem parenchyma
(C) Phloem fibre (D) Sieve tube
GPASA! CRETR G FRfas @i Somait srpite e ?

@) REw (B) I AN
© i o ) R

51. Which statement is not true about the telomere ?
(A) Telomere protects the end of chromosome
(B) Loss of telomere is responsible for aging
(C) Telomere has unique set of genes

(D) Telomere has repetitive DNA sequences
TR T @i St 5 w1 2

(&) GETRATR GRS &S T I

(B) TGETMRIER A FIRT T =

(©) TETRTE 8T Sqam A

D) ETRATE DNA SRR S A

; v,
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52. Stilt root is found in which of the following plants ?

(A) Mangifera indica ' (B) Oryza sativa

(C) Ficus benghalensis : ) (D) Pandanus tectorius
Faferis streafer crfbTs o oriTs wmeat T 7

(A) Mangifera indica " (B) - Oryza sativa

(C) Ficus benghalensis - (D) Pandanus tectorius

53. Itai-itai disease is caused due to ingestion of food, contaminated with

(A) Lead . (B Cadmium = (C) Mercury (D) Nickel
_ e« e e BBR-251 st 7w '
(&) Fem B) wefmm (O Rx (D) Fwe

54, Symplastic transport of nutrients takes place through
(A) cell wall (B) plasmodesmata

(C) transporters (D) cell me_mbrane_

A) ERatE . (B) arSTITSIDt
() Bt | (D) Iy 2

55. Lichens are most sensitive to which of the following ?

(A) Radioactive pollution - (B) Water pollution
(O) He'avy metal pollution (D) Air pollution
e e ofts atme {iRe wemma 2

(A) TSR Y _ (B) wrerEe

(€) SR Ung T (D) IFIT

B :
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BIOLOGY
Category-2 (Q. 56 to 60)

(Carry 2 marks each. One or more options are correct. No negative marks)

56. Green house‘ effect is mainly cauSed.by which of the following gases ?
(A) CH,, CO, and NO, (B) CFC
(€) S0, D) CO

SRS G STTai TR 24T S 218w S X AT ?

(&) CH,, CO, 93 NO, e (BY A OEC

(@80, ' ' D) CO

57. Choose the correct statement(s) about histone proteins
(A) They are acidic .in nature
(B) They help in DNA compaction
© They afe posit-ively charged

(D) They are made up of mostly aromatic amino acids

RwET Calf T e Sea(eR) Rs w4
@ Ex o egfon |

(B) DNAG I+ MRS 50 ST I

© T

(D) Eﬁrqu@wmﬁﬁ@]mﬁwmﬁ@wﬁ%

: Ao,
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58. Identify the correct statements about lac operon

59,

60.

(A) Glucose or galactose may bind with the repressor and inactivate it
(B) In the absence of lactose, the repressor binds with the operator region

- (C) The z-gene codes for permease

(D) lac-operon will be switched on when Iactose is more than glucose in the
. medium

%W@%iﬁ%@w

Q) LIS I RS e I 9 iFr

(B) EFBITSH SAERSTS RTerTEe MY SoIEEa {& 20

(©) 2SI AR TS FA

(D) wmmwm@ﬁwm ST S =W

Which one of the following blood types can be infused into a recipient of A"
group ?

(A) A* | (B) AB*

@), ok e ((B)sla s
ﬁn%ﬁl@mwm@awma@mz%@mmmwwm?
(A) Al | (B) AB*

@ o* | ¢ D) O

Bt-cotton is |

(A) a genetically modified plant

(B) an insect resistant plant

(C) resistant to all pesticides

(D) a bacterlal gene expressing system

Btwﬁ

@A) 93t EFresi AR g

(B) &L *rom aAfswnd sie

©) s oA aifwet

(D) 93T FrecGiEEt 9o Siem o T

: . st e
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61.

62

63.

64.

65.
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ENGLISH
Category-1 (Q. 61 to 80)
(Carry 1 mark each. Only one option is correct. Negative marks -1%)

Choose the most appropnate option to fill in the blank to complete the
sentence most meaningfully.

I wish I ___to my research guide every week; it is s0 inconvenient.
(A) didn’t have to report (B) shouldn’t report :

(C) mustn't report ' (D) won’t be reporting

Select the most appropriate pair of words to fill in the blanks in the same order
to make the sentence meaningfully complete.

I am not to sell you my car unless you offer a more price.
(A) having, actual (B) very, correct

(C) sure, high (D) prepared, realistic

Select the most appropriate pair of words to fill in the blanks in the same oxdex
to make the sentence meaningfully complete.

Since we ___ read every book, we ___ only the famous ones.

(A) cahnot, select (B) must, buy (C) should, have (D) can, ignore

Select the most appropriate preposition/word/group of words to fill in the blank
to make the given sentence most meaningfully complete. :

A mother Wlll not desert her child all the world. _
(A) for (B) with (C) from (D) at

Select the most appropriate preposition/word/group of words to fill in the blan]
to make the given sentence most meaningfully complete. '

As the disturbance started, the army was asked to to meét'anj
eventuality. : : i '
(A) ready - (B) stand up (C) stand by D) stand out
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67.

68.

69.

70.

71.

* JENPAS(UG)-2024 |
Chooée the most appropriate filler to complete the given sentence correctly and
most meaningfully.
I shall see him
(A) Dbefore I shall leave for USA (B) before I have left for USA.
(C) afterl 1ea_ve for _USA. _ (D) Dbefore I leave for USA.

Choose the option which can best replace the group of words given in bold
italics

We should guard against our green-eyed friends. :
(A) Rich (B) dJealous (C) Handsome (D) Enthusiastic

Choose the option Whlch can best 1eplace the group of words given in bold
italics

Atonement for one’s sins.

‘(A) Salvation (B) Repentance (C) Apology (D) Explanation

Select that word which needs to be removed from the given sentence to make it

‘grammatically correct.

You should complain of if you are not happy with the service you receive.

(A) of (B)ouif (C) with (D) had

A sentence i8 given in active (passive) voice. Select the alternative which best
expresses the sentence in passive (active) voice.

One should keep one’s promise.
(A) One’s promise should be kept by us (B) One’s promise has to be kept.
© A promise should be keeping. (D) A promise should be kept.

A sentence is given in active (passive) voice. Select the alternative which best .
expresses the sentence in passive (active) voice.

A lion may be helped even by a little mouse.
(A) A little mouse may even help a lion.
(B) Even a little mouse may help a lion.

(C) A little mouse can even help a lion.

(D) Even a little mouse should help a lion.

= ==
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79, A sentence is given in direct (indirect) speech. Select the alternative which

best expresses the sentence in indirect (direct) speech.

The Manager said, Well what can I do for you ik

g .

(A) The Manager asked what he could do for him.
(B) The Manager wandered what he could do for him.
\ (C) The Manager wanted to know what he could do for him.

b (D) The Manager said that he couldn’t do a_nything for him.

73. Identify the erroneous part of the sentence.
(A) D_id the co-pilot of : (B) the ill-fate plane

(©) that crashed'come in as (D) a last-minute replacement ?

74. Tdentify the orroneous part of the sentence.

| _ (A) A good student (B) 1is one which (C) is ready for . (D) hard work

75. Select the sentence which is grammatically wrong.
- (A) Maya is my elder sister.

(B) Ashok is two years younger to me'

(C) Heis the eldest man of thls v111age

(D) Raviis five years older than me.

76. Select the sentence which 1s grammatically wrong.
(A) H_e_ subcumb ed by his injuries. |
(B) T testified to my friend’s honesty.
(C) These plants are indigenous to India. |

(D) 1ldont know if it is raining.
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A sentence is broken in five parts. The parts P, Q, R and S are shuffled. Select
the correct option below to arrange these parts so as to form a complete and
most meaningful sentence. :

(1) Tt is not always easy

(P) alone at home

(Q) their young children

(R) and go to work

(S) for mothers to leave : |
(A) PQRS (B) RQPS (C) SQRP (D) SQPR

I.  Plane living and high thinking should be our motto.
II. People living on hills are hardier than people living in plains.

Consider theltwo words in bold italic in the above two sentences and select the
correct option from below :

(A) Only sentence I is correct.

(B) Only sentence II is correct.

(C) Both sentences I and II a_re'corre.ct.

(D) Neither sentence I nor sentence II is correct.

I.  One should never adapt to unfair means to gain anything.
II. We must always adapt to new working environment.

. Consider the two words in bold 1tahc in the above two sentences and seloct the

correct option from below :

(A) Only sentence I is correct.

(B) Only sentence II is correct.

(C) Both sentences I and IT are correct

(D) Neither sentence 1 nor sentence 11 is correct.

Choose the most appropriate option to- fill in the blank to complete the
sentence most meaningfully. ;
Ken answered that he a bachelor with a satisfying career than
trapped in a meaningless marriage. e

'(A) must have been . (B) hadtobe

(C) would rather be (D) might have been

——— —

ks
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81.

82.

83.

84.

85.

86.

87.

88.
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LOGICAL REASONING
_ : Category-1 (Q. 81 to 100) :
(Carry 1 mark each. Only one option is correct, Negative marks: —%)

Choose the correct alternative :
Qis DR D8 T i : : :
(A) 68 @her 1 e (D) 61

Choose the set of aumbers from the four alternative sets that is similar to the
given set : b :

(21, b1, 15)

(A) (21, 40, 51) B) (21, 41,30) (C) (21,75,51) D) @1,91, 35)

DWH is related to WDS in the same way as FUL is related to
(A) UFO (B) UOF (C) FOU (D) FLV

There is a relationship between first two terms and the same relationship
holds good between the next two terms. Find out the missing term.

121

64 : 81 : 100 100
A) — B) — ) D) —
& 100 . ®) 100 ©) 64 ( ) 81
Choose the word which is least like the other words in the group.
(A) Assa'ssinate B) Kill (C) Murder D) Kidnap

If ROAST is coded as PQYUR in a certain language, then how will SLOPPY be
coded in that language 2ty ' )
(A) MRNAQN (B) NMRNQA (8] RANNMQ (D) QNMRNA

In a certain code, ORDER is written as x = $ # + and BOARD is written as
* x % + §. How is ABODE written in that code ? ‘ -
(A) % *x8# (B) %*x#$ (C) % xB¥# D) %*8x#
In a certain code ‘it be pee’ means ‘roses are blue’, ‘sik hee’ means ‘red flowers’,
and ‘pee mit hee’ means ‘flowers are vegetables’.

How is ‘red’ written in that code ?

(A) hee (B)ipee N o ©€) mitie e ) il

15
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89.
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91.

92.
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If in a certain code ‘CHARACTER’ is written as ‘241612376" and ‘CHILDREN’
is written as ‘24859670°, then how can ‘HIRALAL' be written in the same
code ?

(A) 4816515 . (B) 4861155 (C) 4816155 (D) 4861515

Choose a figure from the four alternatives which would replace the question
mark (?) _ : 2

VIAIS]
" <: o é: (C). >: ) >:

Choose the correct mirror image of the number 247596 E (mirror)

(A) 695742 (B) @ocGVhE& (C) decvrE (D) &hVERD

Looking into a mi_rror, the clock shows 9:30 as the time. The actual time is
(A) 2:30 (B) 4:30 (C) 6:30 (D) 3:30

Trace out the alternative figure which contains the given figure as its parts.

£

@ (@ ®) C@ © @ D) % -

Select a figure from amongst the four alterriatives, which complete the given
figure. - X '

(A) (B) (© @)

_ e
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The four different positions of a dice are given below .

QY

Which nﬁmber is on the face opposite 6 ? - |
(AY 28 8 (B) 3 ) 4 D) b5

Two positions of a block are shown below :

[TT]) L1 1 ]
00 /5 000 /o
e |e coe |o°

‘When six is at the bottom, what number will be at the top ?

A4 1 | ®B) 3 © 4 D) 5
Choose the missing term out of the following alternatives :

and crPeioh: g0

(A) ek . B) e.] ©€) k] D) J.e

Choose the correct alternative from the given ones that will complete the
series :

SHG, RIF, QJE, PKD, ?
(A) NMB (B) OLB . (C) OMC D) OLC

Choose the correct alternative :
Body : Physiology : : Heart : ?
(A) Haematology (B) Cardiology (C) Nephrology - (D) Craniology

Choose the word from the given alternatives that is similar to the given words
and hence belongs to the same group ? :

Canada : Chile : Germany. : ? : ) _
(A) Spain (B) Paris (C) New York (D) London

: ; "R
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